UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

RS118

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 22.05.2023 DESCRIPTION:
APPVD Climbing frame LYRA
‘P . . s .
.E.gp TI ptl ptapDU MATERIAL: v
WEIGHT: SCALE: 1:20 SHEET 1 OF 11




safety area

5273

) B o )
(@) — - (@)
O ™
Y
/.
T
(@)
S &
L
(2’4
Y \
1633
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.-
DIMENSIONS ARE IN MILLIMETERS -
WEIGHT ARE IN KILOGRAMM RS 11 8
NAME SIGNATURE DATE REVISION
DRAWN|  M.Rebase 22.05.2023 DESCRIPTION:
APPVD Climbing frame LYRA
.ﬁlg' Ti ti ta ol MATERIAL:
U7 Tiptiptap n
WEIGHT: SCALE: 1:40 SHEET 2 OF 11




foundation

5273

6061

183

!
1780

1805

Y.\

1236

1869

1535

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

RS118

DRAWN M.Rebase

22.05.2023

APPV'D

LA Tiptiptap®

DESCRIPTION:

Climbing frame LYRA

MATERIAL:

A4

WEIGHT: SCALE: 1:40 SHEET3 OF 11




2158

WA\
IAANAN

| SRRNANIAN

\ground

3061

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

RS118

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 22.05.2023 DESCRIPTION:
APPVD Climbing frame LYRA
* o
TQPJ a - Ol MATERIAL:
TP Tiptiptap A4
WEIGHT: SCALE: 1:50 SHEET 4 OF 11




ITEM
NO.

PART NUMBER

QTY.

post 98x98x2100

ground fixing L-200

WIN

beam 40x1455

N

climbing net A

(@)

climbing net B

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

RS118

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 22.05.2023 DESCRIPTION:
APPVD Climbing frame LYRA
* o
TQPJ a - Ol MATERIAL:
TP Tiptiptap A4
WEIGHT: SCALE: 1:30 SHEET5 OF 11




ground level mcrks/

2

) Q

°® i|
%_

\%ﬂ\g\f
S

300

4EA

600

700

\\

concrete

PART NUMBER

ground fixing L-200

plastic detail for ground fixture

olt M10x120 DIN603

olt M10x110 DIN603

nut cover M12

washer M10 DIN9054

nut M10 DIN985

nut cover cap M12

plastic cap 115x115

‘/.l
ITEM
NO.
|
<% 2
3
4
5
6
/
8
9
10

wood screw 6 x 90

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

RS118

DRAWN M.Rebase

22.05.2023

APPV'D

kA Tiptiptap®

DESCRIPTION:

Climbing frame LYRA

MATERIAL:

A4

WEIGHT:

SCALE: 1:10

SHEET 6 OF 11




alumimium post

I I [} 1
1 ° ) o
o o
® ™
s
1 N S
®\ Q
4.,\4 ®\ 9
\ 8
1, concrete—"| ._L.._] - 1
o Y
N \0\7
| ©®300 |_
ground level marks
"4 ITEM
NO. PART NUMBER
1 |plastic cap 115x115
4%4'7 2 |plastic cap 98x98
3 |wood screw 6 x 60
4 |ground fixing L-200
5 |plastic detail for ground fixing
6 |bolt M10x110 DIN6403
7 |bolt M10x120 DIN403
8 |nut cover M12
9 washer M10 DIN9054
10 |nut M10 DIN985
1T |nut cover cap M12

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

RS118

NAME

SIGNATURE

DATE

REVISION

DRAWN

M.Rebase

22.05.2023

APPV'D

DESCRIPTION:

Climbing frame LYRA

kA Tiptiptap®

MATERIAL:

A4

WEIGHT: SCALE: 1:11 SHEET7 OF 11




[\

XA

(RN

AN

ground
I~ ol i - ) i
3 =] 3
ol S D o
LN Ln
N ™~ N
1 \concre’re/ I concrete—"] 1

ks
N
(@)
(@)

Y

300 _

1
[T

N

@)
1S

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE DATE

REVISION

PART NUMBER / DWG NO.:

RS118

DRAWN

M.Rebase

22.05.2023

APPV'D

kA Tiptiptap®

DESCRIPTION:

Climbing frame LYRA

MATERIAL:

A4

WEIGHT:

SCALE: 1:30

SHEET8 OF 11




post A

270

DETAIL A
SCALE1:7

325

(N N
(
1@ I
| | ] -]
R O] L
[ iy T |
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM RS ] ] 8
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 22.05.2023 DESCRIPTION:
APPVD Climbing frame LYRA
MATERIAL:

kA Tiptiptap®

A4

WEIGHT: SCALE: 1:40

SHEET 9 OF 11




climbing net

N post

N7 PART NUMBER
1 |bolt M10x100 DIN603
2 |nut cover M12
3 |washer M10 DIN9054
4 |nut M10 DIN985
5 |nut cover cap M12
6 |nut cover M12 for beam

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME SIGNATURE DATE

REVISION

PART NUMBER / DWG NO.:

RS118

DRAWN M.Rebase 22.05.2023

APPV'D

kA Tiptiptap®

DESCRIPTION:

Climbing frame LYRA

connecting beam and climbing net to post

MATERIAL:

A4

WEIGHT:

| SCALE: 1:8

SHEET 10 OF 11




rope
rope
EPDM .
ground chain safety surface chain
- \‘ plastic tube
B )
i
Concrefe Concre'l'e
rope
C
shackle

93 V/shockle pin
X

chain

1.Hang and fix the chain in the right place and pour concrete.

2.In the case of EPDM, first put the chain through the plastic tube.
: 3.Tighten the rope and fasten it to the chain with a shackle

(you may have to cut the chain shorter).

3.Fill the area with sand or other suitable material
(in the case of EPDM, cut the plastic tube to the same level with the surface)

UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM RS ] ] 8
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 22.05.2023 DESCRIPTION:
APPVD Climbing frame LYRA
F
o u " ’
TQPJ T t t ol MATERIAL:
uzg Tiptiptap A4
WEIGHT: SCALE: 1:20 SHEET 11 OF 11




A

attfaching chain to concrete

concrete

300

600

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

RS118

DRAWN

M.Rebase

22.05.2023

APPV'D

Tiptiptap®”

DESCRIPTION:

Climbing frame LYRA

MATERIAL:

A4

WEIGHT: SCALE: 1:20




chain tensioning option

RS118

Climbing frame LYRA

A4

Tiptiptap®”




